Farm Up eptember 13, 2C

.) Solve the equatlon fory: 3x + 2y =
#wQ%\
“\BX —IX ‘
—LF = 3 ><+7

2)leen f(x) = X (7 X) find @ f(-1)
<5>3 1“’5 <'L§g‘( <D>
4 (&5)@ mm

3.) Find the slope from the re?resentatlons below:
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A ball tossed in the air from ground level is modeled by the function h(t)=1441— 16¢*,
where /1 is the height in feet of the ball in the air and ¢ is the time in seconds.
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Sometimes you must complete the ordered pairs using a given slope.

GOING Example: If the slope of the line passing through the poim‘ and
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13.(-3, -2) and (x, 6); m = 2

14. (0, -4) and (x, 7); m = %
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15. (-3, -4) and (-5, y); m = -% 16. (x, 2) and (6, 3); m = _%
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Slope Intercept Form

- Intercept

y=mx+b./y

pd

slope- always the coefficient paired with the
X
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Standard Form

ax + by =c

y is still the most important
term



Given equations in standard form, you must
convert them to slope-intercept form.
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Identify the slope and y-intecept. -
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[dentify the slope and y-intercept.
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[dentify the slope and y-intercept.



